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Is the uprooting of one’s body — X% IR 927 Y51 n9pws 19 NPY
similar to the uprooting of an object; or not

OVERVIEW

27 posed the following query; what would be if a person was laden (by
another person) with items in a >"77 and he walked out with them into a
1"77; 1s the 1913 NPy when he walked out of the °"77 considered as if he
made an 77°PY on the items in the °"77 and would therefore be 21, or not.
mooIn discusses that the same query is applicable to 7mi7 and that neither
query can be resolved from a mwn.

— N3N PaYY SyaIY 581 5133 5917 PNYS 19539 AN
It is the view of the >'' that 27 could have just as well posed this query

regarding placing down (7711377) the item -
— ¥DP %33 HY 1NN 8 1U19Y oY 1w 02390 MYIY YON NIINY 19

For instance, he took out an item into a 2'"'7719 (with a regular 77°pY in the
"717) and he stood there (in the 7"77) in order to rest, but he did not place

the item on the ground; the query would be -
— NJIN NON HNIND N1 19 NNIN ON

Is the resting of his body considered as if he put down the item, or not.

mooIN anticipates that one may resolve this query and rejects this solution:
— VYYD NI 299N 2PN NIVINI NIINM HVIY IN NPT PNHINNN)

And we cannot resolve the query from our ;71w» which states, ‘or if the
"1v took from the hand of the 2"77v2 and took it out into the "7, the "1 is

291, Seemingly the 1 is 211 by merely taking it out even if he did not put it down in
the 1"717. This would seemingly prove that *»7 y5n N 19 nna.>

mooIn rejects this resolution:
— YPIP 22X DY NNV NNPPIND NIINT

! See marginal note (from 221> MdoWN): (2,7) P2 9T TPY HY oya 7"OKY 1D RWD An177 WD K"MW
V2 77°pY AR va XY 7m0 8177, The X"2wn maintains that it was obvious to the X3 that yor nnand 193 NRIn
n7; the only query was regarding 77°py. See ‘Thinking it over’ # 2.

2 The X3 later (2,m) will distinguish between w197 Ty (where it is considered a ani1) and An3% 72y if he
stopped to adjust the load (where it is not considered a 7r17).

? The item in the hand of the 1¥ is considered resting in the 1"77, since the (entire) body of the *1 is resting
in the 7"
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for we can establish the 71wn in a case where the 1 put down the item on
the ground of the 1"777 so there was a yon1 nmar.

nooIn asks:
—550n13 VNN NY NY NPT (3% 91 PNINNM VIV NI INNIN) Sannn oN)

And if you will say, and why do we not resolve s'27 query from our 72w

later, which states; “a tailor should not go out with his needle naw 17 close

to nightfall-
— NN NOVY NIY

Perhaps he will forget that it is ®naw and will go out’ to the 2" with the
needle on Naw -
— 112 N8 XD INAN T NN HIPYI IND 199 NYPY IN)

And if we will assume that 913 n9%pY is not similar to ysn n9°py, why

should he not go out with it on naw 27w -
— TRIININT NOIN 2159 55791Y 98 NY NN
Since he can never come to transgress an XnNYIIRT 90N

mDoIN answers:

%1329 190X 950 199NT 1Y Y
And one can say that nevertheless the 3129 prohibited it even though it will
not cause an XN»IIXT MO,

SUMMARY

The same query there is regarding 77°pY can also be posed concerning i,
whether 1913 nma7 is M7 vo1 nmand. The mawn of XXM 7210 D0IW W can be
understood to mean, he placed it on the ground.

THINKING IT OVER
1. How can we differentiate between the fact that an object in someone’s

* See “Thinking it over # 3.

> The & discuses later (2,%°) whether he is holding the vrn or it is stuck in his garment.

6 See RXnw 7"7 R,X° MDOIN.

" The v has the v from before naw. If we maintain that yom n°pya M7 XY 191 NPY then no 7Py was
made on n2w. Therefore even if he will put down the vrn in the 71"77 on n2w there will be no Xn>7RT MO°K,
since there was no 77°py. It will only be 112771 70X (in order to prevent a case when he will make an 77°pY).
Why therefore did they prohibit the tailor from having the vr» in his possession 72°wn oy "W if it can only
come to an 13277 MO°X but not to an XN>>XT NO°X. There is a rule that 7715 77713 13713 RS, See 2717 NWH for
an alternate explanation.

¥ See 1"mn who writes, that if something occurs commonly the 1327 were T3 a 713 71
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hand is definitely at rest,” and nevertheless we can still query whether nm
11 is *n7 yon nnaa?'?

2. According to mpon that the query is for A (as well as for 7°py)," why
indeed did 27 ask concerning 77°P¥ (which is an unusual case of 11°yun
17°211), when he could have asked concerning 7m177 (which is a more common
case)?!"?

3. Is there any connection between MmdoIN initial statement (that the same
query applies to 7m37) and the subsequent question’ (from v»™m7 X¥* 9N
wnn2)?'

° This is evident since a 77 (or 77°pY) on (or from) a hand is a valid an37 (or 71pY).
19 See x"wmn.

' See footnote # 1.

12 See n"ox.

13 See footnote # 4.

1 See a1 W and o°now pnn.
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